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Where do you place the decimal for each:

54.2+358= 5878 7LZ/*D@

%g.0
§3124o -12.31=300,009 w 12:07 gg

22X 13- 196,

25.{)}7\/0@:50, 0
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Algebralc@ ressions \/

+ 5 is the numerical coeffu:lent of the varlable M
& + 2is the constant term. ( ‘\' - <~ C'I %
\A
= 0\ n « kis the variable. - \
LA % The variable represents any number in a set of numbers. A \,

Variables are written in italics
so they are not confused with
units of measurement.

1. ldentify the numerical coefficient, the variable,

and the constant term in each algebraic expression.

a) 3x + 2 b) 5n g w+3 d) 2p + 4
In.c |V |con derm
Bx 2 [ x | 2

A
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o

Here are some other algebraic expressions, and their meanings.

)
In each case@epresents the number.

(\6% &
* Three more than anumber: 3 + norn + 3 — —
« Seven times a number: 7n — / f =5 In means 7 x n.
*- Ei:_:@: less than a number: n — 8 —

k' ADAumber divided b},ﬁﬁ: ;—0

——% >t 3D @%@

page 18

X
— 3 means x + 4.
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3. Write an algebraic expression for each phrase.

. ‘rb
G + ) six more than a number b

b) a number multiplied by eight 82

) a number decreased by six ( <(p

d) a numbercm?ﬁ_by%ur
N

3] "9

December 08, 2016
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hO A’ NSW E— Kg
5. Write an algebraic preision for each sentence. 2
a) {fodDle a numbepand add three. 9 nt2 __,

b) §ubtract five from a numbeﬁth.e multiply by two. 7/
c) bivide a number by seven)then add six.

d) (A number is subtracted from twenty—eight,)28_r\
e) Twenty-eight is subtracted from a number.

nN-2§

O +6
N
>(C—§ﬂx1-

1) AL 4]

B) | ¥y
Q) N €>\\f\+§o
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7. Evaluate each expression by replacing x with 4.
a) x + 5 b) 3x 0 2x— 1
d) 5 e) 3x + 1 f) 20 — 2x
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4. A person earns $4 for each hour he spends baby-sitting.
a) Find the money earned for each time.
i) 5h ii) 8h
b) Write an algebraic expression you could use
to find the money earned in t hours.
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